Bharati Vidytapeeth's Dr.Patangrao Kadam Mahavidyalaya, Sangli 4.1.1 Infrastructure Details 2022-23

Room No.	Particulars	Length (ft.)	Width (ft.)	Total Area(Sq.ft.)
	Ground Floor			
1	Class Room (B.Sc. III)	40.1	22	882.2
2	2 A- Ladies Wash Room			
3		16.5	15	247.5
3	2 B- Gents Wash Room	1 52		* "
4	M.Sc.(Chemistry) Class Room	30.2	22	664.40
5	Staff Room (Chemistry)	22	10	220
6	5A-Exam/Admission Room	22	10	220
7	5-B- Scholarship Counselling			
8	Chemistry Lab 1	22	30	660
X =	Chemistry Store	13	20	260
9	Chemistry Lab 2	40.8	25.6	1044.48
	Chemistry Store Room	24	10.7	256.8
10	Chemistry Lab 3	40.9	24.9	1018.41
11	Chemistry Research Lab 4	24.4	11.1	270.84
12	A- DST FIST Lab 5	20.3	24.10	489.23
	B -M.Sc.Chemistry Analytical	19.2	24.10	462.72
13.	Instrumentation Lab 6 Auditorium	38.8	80	3104
14	Gents Toilet	16.5	15	247.5
15	Electrical Room	16.3	7	112
13	Electrical Room	10	,	112
	First Floor			
16	Conference Hall	41	22	902
17	Store Room	9	22	198
18	NAAC Room	30.2	21.11	637.52
19	Networking Lab	21.11	9.10	192.10
20	20 A - Principal Chamber	22	20	440
	20 B - Principal Cabin	18	22	396
	20 C - Wash Room	10	20	200
21	Administrative Office	44	20	880
22	Computer Science Lab	40.6	20	812
23	Physics Lab 1	41	25	1025
	Cabin	13	20	260
24	Physics Lab 2	41	25	1025
	Dark Room	24	10.7	256.8
25	Gymkhana Staff Room	32	11	352
26	Gymkhana	40	27	1080
27	Library Reading Room	34.8	40.5	1409.4
	Library	34.8	40.5	1409.4
28	Ladies Toilet / Wash Room	16.5	15	247.5
	Second Floor			
29	Class Room	41.1	22	Signature Not Ver
30	Zoology Lab	33	22	DHANAJI GOVINDR 726
	Store	9	22	DHANAJI GOVINDR O'KA I attest to the accuracy and authenticity of this document Sangii 25.10.2023 01:19 440
	Zoology Lab Including Cabin	20	22	25.10.2023 01:19 440
31	Examination Room	15	22	330
32	Staff Rest Room Ladies	22	15	330

ONO KADAM M

33	Staff Rest Room Gents	15	22	330
34	Rest Room	15	4	60
35	Class Room	18	12	216
36	Staff Room Common	22	20	440
37	Class Room	22	20	440
38	Microbiology Lab 1	41	25	1025
	Store	13	20	260
	Cabin	24	10.7	256.8
39	Microbiology Lab 2	41	25	1025
40	Junior Section	20	10	200
41	Class Room	20	27	540
42	Class Room	30	22	660
43	Gent Staff Wash Room	16.4	15	247.5
44	Class Room	35	25	875
45	Class Room	28	22.5	630
46	Class Room	28	30	840
	Third Floor			,
47	Class Room	41.1	22	904.2
48	Botany Lab	41	22	902
1.5	Store	9	22	198
	Cabin	16	22	352
49	Class Room	20	22	440
50	Class Room	30	22	660
51	NSS Room	12	22	264
52	Geography Lab	27	20.6	556.2
	Geography Staff Room	11	14	154
53	A Statistisl Staff Room	24	10.7	256.8
1	B Statistics Lab	33	10.5	346.5
	C Electrical Lab	14	26	364
54	MLT Lab and Biology Lab	20	26	520
55	Store Room	12	7	84
56	Class Room	27	20	540
57	Class Room	27	20	540
58	Toilet / Ladies Wash Room	16.5	15	247.5
59	Cultural Room	35	20	700
60	Eng. Language Lab	28	12	336
61	Girls Rest Room	27	20	540
62	Class Room	27	30	810
63	College Canteen	39.6	40.6	1607.76
64	Vermiculture (4 Nos.)	8	3	24
65	Play ground	250	180	44993.15
66	Ladies hostel		9 18	19832.5
67	Running track		*	200 meters



Description	Area (Sq.ft.)
Class rooms =16	10783.6
Lab = 20	12940.48
Language Lab	336
Gymkhana	1432
Auditorium	3104
Cultural activity Centre	700
Library	1409.4
Reading room	1409.4
Porch	2805.2
Administrative Area	2466
Garden	15995
Ladies Hostel	19832.5
Toilets/Wash Rooms	1437.5

Total Built up area: 67615.66 sq.ft. = 6281.70 sq.m.

(Dr. D. G. Kanase)
PRINCIPAL,

Dr. Patangrao Kadam Mahavidyalaya, Sangli - 416416 (Sangliwadi)



List of Laboratories (2022-23)

Sr. No.	Name of Department	Total Area (Sq.ft.)
1	Chemistry Lab 1	660
2	Chemistry Lab 2	1044.48
3	Chemistry Lab 3	1018.41
4	Chemistry Research Lab 4	270.84
5	A. DST FIST Research Lab 5	489.23
6	B. M.Sc. Chemistry Analytical Instrumentation Lab 6	462.72
7	Networking Lab	192.10
8	Computer Science Lab	812
9	Physics Lab 1	1025
10	Physics Lab 2	1025
11	Zoology Lab	726
12	Zoology Lab Including Cabin	440
13	Microbiology Lab 1	1025
14	Microbiology Lab 2	1025
15	Botany Lab	902
16	Geography Lab	556.2
17	English Language Lab	336
18	Statistics	346.5
19	Electrical Lab	364
20	MLT and Biology Lab	520



(Dr. D. G. Kanase)
PRINCIPAL,
Dr. Patangrao Kadam Mahavidyalaya,
Sangli - 416416 (Sangliwadi)







(Dr. D. G. Kanase)

Principal,

Dr. Patangrao Kadam Mahavidyalaya,

Sangli.

Chemistry Lab



Microbiology Lab



Computer Lab



Smart Board



